PeoBLEM 13.24
grpown: Carbon buruws wifn. 80% +lhaoreh et Q- tju‘e (d.«'n) CO,, CO, aud o
only |

EnO: Debvunms ta) +e belanced reachen equahiom, (&) AR, cc) 4=
Onalysis o) e podvetft ou a welar basey,

w: 376 woler of No accomp any eech uele of Oa in the avr, and Ny s jmert.

AVALYSIS () Complede Combushon of C with +he Hheorehical cwovut of arnm
18 deseribed by

C+ (02432 W) —» €O+ 376 Ly
Thus, Cowbvihon With BO% thesrehrcal air & pProduce C92,Q0,aud Ny S

Ca 0.80(0Lt37eM) > « €0, 4+ b CO + ©80)3.7We
C: l= oth = bzt~a
ISy (¥O)2)= 2atb & Lhz2a + (t-a) = az 0.b; =04
Accordingly , 1he balanced reach'oy equah'on '3

C+ 0.82(0,43.7602) - 0. 600, + O 4¢O +3008 Ny w— (2]

(h) The ar fuet vaho it
AR = 0.90(%7)/1 = 38%  kwel Care)/kwol(fuet)

Tuen wikn Eq. 13-

— £ Mair . 2047\ = 9.1 (arr)
AF:AF(,—@—;(): (3808)(.TLTI) ?‘:.;(—‘f"tl) o )

&) The veolar onalyn's 01)—(44.- r»w-o&.oe'f's v

e/ Co. = ©-b o)z IS%, o), co= 2% _ 10% ofs Na= 7SY, —g—o C€)
lo ©Ca (4,003,) ) 5, Yo ¢ )

<..00

PROBLEM 13.25
KpowN . CaHg reacts wity 80% o-()-{rkaere-(-po.& atm gl [dtng coe €O H 0 and
No ontly .
Erod: Dedornuwe ta) e balauced Avachion z7g¢+~,'m«l (o) AF, te) e 2wl tif
0'64'1:« prodvctr  ow o dﬂrv Wwolar bajrr,

ASSUMPTIONS. 3.76 woles ©} M, accompauy eack wole eof 0, in the air,and Ny i iwert,
AunLS 188 (6)Complete comborhon of ¢ Hg with tue thesreheal amovnt of arr I3

described b-a
CyHg £ S0, 3L NL) =2 3€0, + 4R 0+ 12.8M,

ComabushNowm Wit eo% of 4uesve Kesl are ot +hem
Gwg +4 (0,43 76M) > (o, +yCcO+ 2H20 + 1504 Ny
3= ¥4y D q=3-x

C:
H: g =22 = 2=4
o: S 4z (3x) D Xl g2

Bz 3xdy+ 4
Accor&‘v«slua “
C_;l-\3+4(°1+'3-‘l‘v;§—h co, +2CO0 + 4 Hao0 + IS04N, <
. A/ Mk \_ (4)(47¢ 2897 = (.51 ©gair) ®)
®) AF- AF(MG«.J)' *(47 )Y_44-.OQ] g (Foat) —
(19 _
Twe owmowm? o4 lr'] produets per wole of Guel s "“'tf l+2tis04: 15.04. Thus, the ) cc)
omalysic of the products on a deq lases 1s e
: 2 =0 1oq %) 2 104 _ 0.$537 (8337%)
Yeo, * -'L—* + 0.0554 (Y-s'[%)) 9eo ~ [g.04 =0.n09 (1109 %), 4v, iF0d
8.0
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